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Note: Answer questions from all sections as per
instructions.

SECTION A

Answer any two questions from this section in about
500 words each. 2x20=40

1. Distinguish between arc elasticity and point
elasticity of demand. Explain the various methods

to measure the price elasticity of demand. 8+12

2. What is production function ? State its various
forms. Why does the law of diminishing returns
operate ? Give illustration. 4+4+12

EEC-011 1 P.T.O.



3. What do you mean by the term ‘rent’ ? Critically

examine the classical theory of rent. 5+15

4. What is National Income ? How is national

income estimated in India ? 5+15
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SECTION B

Answer any four questions from this section in about

250 words each.

10.

11.

Explain the concept of Production Possibility

Curve. What are its assumptions ?

State the features of money. Discuss the classical

approach of the Quantity theory of money.

Given the cost function TC = 60 + 0-7q + 0-2q2,
find out fixed cost, marginal cost and average

cost.

What is price discrimination ? How is

equilibrium set up in discriminative monopoly ?

What is money market ? How is equilibrium set

up in money market ?

What is inflation ? How does inflation affect the

various sections of the society ?

What is the difference between balance of trade
and balance of payment ? How does balance of

payment remain in balance ?

4x12=48

4+8

6+6

12

4+8

4+8

4+8

4+8
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SECTION C

12. Distinguish between any three of the
following : 3x4=12

(a) Static and Dynamic Analysis
(b)  Stock and Flow
(c) Multiplier and Accelerator

(d) Economic growth and Economic
development

(e) Explicit and Implicit cost

(f) GDP at factor cost and GDP at market
prices
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FTa IUTIY HTAHH
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U5 UTSAHRA : ALAITER
3.3.¥01.-011 : steforen & we frgra
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3G YT G [F81 g Fo1 & F TTHT 500 V5] (I9%5)
7 5w 2x20=40

1. HM & 99 A= dw fog d@= % = IR
Faeu | {1 hI hmd A= wd 6 e fafern
&1 = K | 8+12

2. 3T o 91 B ? 3Heh fdfdyg w91 Skl SAEsT |
BEYH 3ded 1 e = framfila g B 2
32T Higd = Hifeu | 4+4+12
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3. ‘T Wee ¥ Y 1 HIAA 3 ? HH o JFRETT
(sreifereh) fagra o1 aTetemTeHe e Hifse | 5+15

4. TS T 1 B 8 2 WRA H TS A <Y MU

EX RIS I A 5+15

EEC-011 6



CINRC]

3F YT @ [ wW I F I ATHT 250 g)
(I%) 7 e | 4x12=48

5. 3cqTed TETIAT sk <hl STFYTUN <l S¥REAT shifog |
THh! T HI=IATE gdt & 2 448

6. Tz I foowad sy | ggr % ufmmw faga %
TEETE (FATRIehT) gfvehrur i ==t Hifa | 6+6

7. feu U AvE B
TC = 60 + 0-7q + 0-2q2

g for @, diuwa ar qur iEd dnd

HITT | 12
8. ma fadg w1 g ® 2 faud) wamifersh & 3iaia

Aqe fohd TR Tefud giam 8 2 4+8
9. U WK F1 8 ? H31 9WR H dgad fhE TR

Tofud i § 2 4+8
10. erehifa 1 3 2 gerehifa guret & fafi ot o

frg YR uTfad =it 8 2 4+8

11. YAH Fgaq U S9R ggad § #0131 & 2 fhd
YR TAH Fga Fqictd & g ? 4+8
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T T
12. F=faRed o @ fordl 77 § o Taee hifT : 3x4=12
(%) w3fereh T T forem
(@) YSK (stock) Td §IEE (flow)
() T T @
(@) emfdes Tafg wa i fawm

(¥) f¥euss AT (explicit cost) Ta fafga «mma

(implicit cost)

(F) e AT W Fohel T I7UTG U SR hiwd
I Hohdd H{("Ld(“'lld\
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